84
Cheng Kexin

K4.1

(1)

(a)

I/ (t)| = |(=rsint, rcost,a)| = Vr? +a? > 0h o IEHIFRTH 2

(b)
t
s(c):/ |/ ()| dt
0
t
:/ V12 + a?dt
0
=tvVr2+a?
(c)
s
M= Jara ©
B s ) S as
c(s) = Tcosim,r51n\/r2+a2,\/r2+a2
(d)

WFE LI T & 9 1C



Y
x
(ii)
(a)
I’ (t)| = ’(1,sinht>' = \/1+sinh2£ = coshE >1>0
a a a
IEAIHHE T a5
(b)
t
s(c) :/ |’ ()| du
0
t
= / cosh ~du
0 a
= [a sinh Er
alo
= asinh t
a
(c)
t(s) = asinh™! (f)'f



(d)
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Chain’s rule

c(s)=c (t)- % = (—asint,bcost) - !
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Va2sin?t + b2 cos? t
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Va2sin?t + b2 cos? t Va2sin?t + b2 cos? t
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